Name:

GCSE (1-9)

Substitution

Instructions

» Use black ink or ball-point pen.

» Answer all Questions.

» Answer the Questions in the spaces provided

— there may be more space than you need. :
 Diagrams are NOT accurately drawn, unless otherwise indicated.
» You must show all your working out.

Information

» The marks for each Question are shown in brackets
— use this as a guide as to how much time to spend on each Question.

Advice

* Read each Question carefully before you start to answer it.
» Keep an eye on the time.

* Try to answer every Question.

» Check your answers if you have time at the end
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1 f=7
g=5
Work out the value of 3f+2g
3(7) + 2(5)
21 + 10
3]
(Total for Question 1 is 2 marks)
2 c=4d -7
Find the value of ¢ when d =6
c= u(6) — 7
= 2 L{— — 7
= 7
|/
(Total for Question 2 is 2 marks)
3 v=u-+at
v = 3 + 10(6)

u=3 '

a=10 = 3 +t 50O

=6

= £33
Work out the value of v.
- 63
(Total for Question 3 is 2 marks)
4 x=4
y=6 |
2(4) - 6
Work out the value of 3x—y
12 - 6

, ¢
-

(Total for Question 4 is 2 marks)

/




/

5 L=9m+2n
Work out the value of L whenm =3 and n=—-6
L= 9(3) ta(-#6)
= 17 -2
S

)

6 q=35p+3r

r=—4

:30 —
= /g

Work out the value of g.

. o g=5(6) v 3(-¢)

(Total for Question 5 is 2 marks)

/2

/&

7 H=4f+g

Work out the value of H when f=5and g=-2

= #(5) - 2

(Total for Question 6 is 2 marks)

= 20 — 2
- /3
[ &
(Total for Question 7 is 2 marks)

A=4p+5q '
e A= 4(3)+5(-2)
q=_2 Lo

~ = (2 = /0
Work out the value of 4.

= 2

A

(Total for Question 8 is 2 marks)

/
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9 L=9m+2n

Work out the value of L whenm=-3 andn=4

/= 9(-3) t 2(%)

= 27 +
= =/ 7 — /9
(Total for Question 9 is 2 marks)
10 q=6p—r
P 7= 60-#) = ¢
Work out the value of g. = T 24 - 5
< -279
— 279
(Total for Question 10 is 2 marks)
11 H=f-2g

Work out the value of H when f=12 and g=-6

Ho= j2 — 2(-6)

2 4
(Total for QuestiO{l 11 is 2 marks)
12 A=5p+6q
p=10 _ 4 6 -2
Work out the value of 4. = 5o — /2
= 9%

S8

\ (Total for Question 12 is 2 marks)




-

13 L=m(n-2)

Work out the value of L whenm=9andn=>5

L:

(N

9(5 -2)
7(3)
+7 27

(Total for Question 13 is 2 marks)

14 a=5bc

b=-4
c=-3

Work out the value of a.

a=5(-4)(-3)
:"ZO("3>
= § O

6 O

15  x=472-12

Work out the value of x wheny =5

(Total for Question 14 is 2 marks)

1 <&
x =4 (5)° — 12
= ¢ (Z_S) — 12
= /0 © /2
T 3.8
(Total for Question 15 is 2 marks)
16 A=p-2q
p=-4 A= -4 —2(-7)
qg=-1
- - /
Work out the value of 4. . 4 ,‘l' v
= /0

] O
(Total for Question 16 is 2 marks)




17 a=28
h=—

7
Work out the value of 5 — 4ac (%) — 4 ( 5) (2)
| 26 — 32(2)
26 ~ ¢y
=37 -39

(Total for Question 17 is 2 marks)

18 d:—nl
1%

Work out the value of dwhenm =32 andv=28

%

(Total for Question 18 is 2 marks)

19 A=2j—jk
Work out the value of 4 whenj=7and k=3
4= 2(7)—-7(3)
c 14 — 2

—/

(Total for Question 19 is 2 marks)

x=-3 ) W= 5(/ S)L + 3

Work out the value of w.

= 5(9) + 3
= ¢5 73
= (7L 9

o4 8

(Total for Ques'tion 20 is 2 marks)

/
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1
2 =
1 A 2bh

Work out the value of 4 whenb=3and =8

—(3)(¢)

L-(2¢)

i\

A.

!

= 2

__________ (2

(Total for Question 21 is 2 marks)

22 A=%(a+b)h
Work out the v;ﬂue of Awhena=7,b=6 and k=10
4= g (76) ()
S - 6
-~ (13)(r6)

= £+ (/30) =

\)

]

€5

£S5

(Total for Question 22 is 2 marks)

23 v=u+at

Work out the value of vwhenu=12,a=-6andr=35
v o (2 + ( '() ( 5 )
= /2 — 30

= - /8

(Total for Question 23 is 2 marks)

24 y=mx+c

C - _ + ( - 7)
— y = 2(12)
=12
S ey
Work out the value of y. = - 31

— 3|
(Total for Question 24 is 2 marks)

/




R
S=uf+—at

2
u=3 ‘ z
a=2 s= 3(4) ++(2) (%)
(=
Work out the value of s. =1z + /2/' (L) ( /(/
= ;2 + /6§
= 2 1%
- 238
(Total for Question 25 is 2 marks)
1 :
26 S:ut+~2~at - ’ ( ) Z
_ + —
u=-5 S = ('5)(3‘)' z ! (3)
a=4 ‘_ p
t=3 = -5 + = (4)(7)
Work out the value of s. __Js + 2 (c))
- — [ 5 A | &
= 3
5= 3
(Total for Question 26 is 2 marks)
v =l 2 7
27 s= ¢ - (7)" = (5)
=7
s 2(3)
a=3
_ — 25
Work out the value of s. - C,f_z______—
4
= 29
-
é/

y

(Total for Quéstion 27 is 2 marks)




